
READING QUIZ: 
OLIVER TWIST  

In the grim landscape of 19th-century England, a boy 

named Oliver Twist is born into a life of hardship and 
misery. His mother, who arrives at the workhouse in a 

desperate state, dies shortly after childbirth, leaving Oliver 
an orphan in a society indifferent to his fate. From his first 

breath, Oliver is subjected to the cruelty and neglect of the 
workhouse system, a harsh institution that embodies the 

worst of Victorian society’s treatment of the poor.  

By the age of nine, Oliver’s spirit is already marked by the 

brutality he has endured. His simple request for more 
food, an act of sheer desperation, results in his expulsion 

from the workhouse and apprenticeship to Mr. 

Sowerberry, an undertaker. Here, Oliver's suffering continues as he faces constant 
abuse and indignity. The bleakness of his situation drives him to escape, embarking on 

a perilous journey to London in search of a better life. 

London, however, is a city of stark contrasts, teeming with both opportunity and danger. 

Shortly after arriving, Oliver encounters the Artful Dodger, a streetwise boy who 
introduces him to Fagin, a cunning and manipulative criminal. Fagin presides over a 

gang of young pickpockets, exploiting their desperation to serve his own ends. Oliver, 
naive and hopeful, is quickly drawn into this underworld. His initiation into crime is 

abrupt and harsh; he is wrongly accused of stealing from Mr. Brownlow, a 

compassionate gentleman who, moved by Oliver’s plight, takes him in instead of 
prosecuting him. 

In Mr. Brownlow’s home, Oliver experiences a rare glimpse of kindness and security. 

However, his respite is short-lived. Fearing that Oliver might reveal the secrets of his 

operation, Fagin conspires with the ruthless Bill Sikes and the conflicted yet 
compassionate Nancy to reclaim him. Despite Nancy’s efforts to shield Oliver from 

further harm, he is forcibly brought back into the fold of crime. 



Oliver’s time with Fagin’s gang is fraught with peril. He is coerced into participating in a 

burglary, which goes disastrously wrong. Wounded and abandoned by his criminal 
companions, Oliver is rescued by Mrs. Maylie and her beautiful ward, Rose. In their 

care, Oliver slowly recovers, finding in their household a semblance of the family he 
never had. Their nurturing presence begins to heal the deep emotional scars of his past. 

As Oliver’s story unfolds, the dark secrets of his lineage are gradually unveiled. It 
emerges that he is the illegitimate son of a wealthy man, and his half-brother, Monks, 

has been plotting with Fagin to ruin him to secure the family inheritance. This revelation 
sets off a chain of events that leads to Fagin’s arrest and the ultimate dismantling of the 

criminal enterprise. Bill Sikes meets a violent end, and 

Nancy, despite her heroism, pays the ultimate price for her 
defiance. 

The novel’s resolution sees Oliver’s fortunes dramatically 

improve. Mr. Brownlow, who has diligently pursued the truth 

about Oliver’s origins, adopts him. Under his care, Oliver 
receives an education and the love and stability he has long 

been denied. Moving to the countryside, far from the sordid 
streets of London, Oliver begins a new chapter of his life, one 

defined by hope and possibility. 

"Oliver Twist" is more than a tale of an orphaned boy; it is a scathing indictment of the 

social inequities of Dickensian England. Through Oliver’s harrowing journey, Charles 
Dickens exposes the brutal realities of child labour, the workhouse system, and the 

pervasive corruption that ensnared the vulnerable. Yet, amidst the darkness, the story 

of Oliver Twist is also a testament to the resilience of the human spirit and the enduring 
power of compassion and justice. Oliver’s eventual triumph over adversity underscores 

the novel’s central message: that even in the bleakest circumstances, there is always 
hope for redemption and a better future. 

1. What can be inferred about the workhouse system from Oliver's early 
experiences? 

a) It is compassionate and supportive 
b) It is designed to provide adequate care for orphans 

c) It is harsh and neglectful towards children 
d) It is a luxurious place for the poor 

2. Why does Mr. Sowerberry agree to take Oliver as an apprentice? 

a) He wants to provide Oliver with a good future 
b) He believes Oliver will bring him good fortune 



c) He is offered money for taking Oliver 

d) He feels pity for Oliver 
3. What motivates Oliver to run away to London? 

a) He seeks adventure 
b) He wants to find his family 

c) He desires a better life and to escape abuse 

d) He is sent there by Mr. Sowerberry 
4. What does Fagin’s gang symbolize in the novel? 

a) The innocence of childhood 
b) The corruption and exploitation of vulnerable children 

c) A supportive community for orphans 
d) A legitimate business enterprise 

5. What is the significance of Mr. Brownlow’s decision to take Oliver in? 

a) It shows that Oliver is lucky 
b) It demonstrates Mr. Brownlow’s kindness and moral integrity 

c) It indicates that Mr. Brownlow is wealthy 
d) It implies that Mr. Brownlow is unaware of Oliver’s past 

6. How does Nancy’s character contribute to the theme of the novel? 

a) She represents pure evil 
b) She shows that people are inherently good or bad 

c) She illustrates the complexity of human morality 
d) She is an example of unredeemable vice 

7. What does Monks' plot against Oliver reveal about his character? 

a) He is misunderstood 
b) He is driven by greed and jealousy 

c) He wants to help Oliver 
d) He is seeking justice for himself 

8. What can be inferred about Dickens' view of the criminal justice system from 
Fagin's arrest? 

a) He believes it is always just 

b) He views it as flawed but capable of punishing the guilty 
c) He thinks it is overly lenient 

d) He considers it entirely corrupt 
9. How does Oliver's resilience affect his journey throughout the novel? 

a) It causes him more suffering 

b) It enables him to survive and eventually find happiness 
c) It isolates him from others 

d) It leads him to become a criminal 



 

10. What does the fate of Bill Sikes suggest about the consequences of a life of 

crime? 
a) It glamorizes crime 

b) It shows that crime leads to self-destruction 

c) It indicates that criminals are rarely punished 
d) It implies that crime is often rewarded 

11. What role does Rose Maylie play in Oliver’s life? 
a) She is indifferent to his needs 

b) She is a motherly figure providing love and care 

c) She exploits him for her own gain 
d) She is a distant relative 

12. How does Dickens use the character of Mr. Brownlow to critique societal 
norms? 

a) Mr. Brownlow upholds societal injustices 
b) Mr. Brownlow challenges the neglect of orphans and the poor 

c) Mr. Brownlow is indifferent to societal issues 

d) Mr. Brownlow supports the workhouse system 
13. What does the contrast between Mr. Brownlow’s home and Fagin’s den signify? 

a) The disparity between wealth and poverty 
b) The difference in architectural styles 

c) The contrast in cleanliness standards 

d) The variation in geographic locations 
14. How does Oliver’s innocence influence the people he encounters? 

a) It makes him a target for exploitation 
b) It inspires kindness and protection from others 

c) It causes people to be indifferent to him 

d) It leads him to become cynical 
15. What does the character of Mr. Bumble represent in the novel? 

a) The benevolence of the workhouse system 
b) The incompetence and cruelty of bureaucrats 

c) The efficiency of social institutions 
d) The kindness of government officials 

 

 
 

 



16. How does the revelation of Oliver’s true heritage affect the story’s resolution? 

a) It complicates his situation further 
b) It secures his place in a caring, loving environment 

c) It leaves his future uncertain 
d) It diminishes his character’s development 

17. What is the significance of the setting of London in Oliver’s story? 

a) It symbolizes opportunity and prosperity 
b) It highlights the dangers and corruption in urban life 

c) It represents a place of refuge and safety 
d) It is an irrelevant backdrop to the story 

18. How does the novel depict the theme of social class disparity? 
a) By showing the equal treatment of all characters 

b) By contrasting the lives of the wealthy and the poor 

c) By ignoring class differences 
d) By glorifying the life of the poor 

19. What can be inferred about Dickens' attitude towards charity? 
a) He believes charity is unnecessary 

b) He views charity as essential and often lacking in society 

c) He thinks charity should be limited 
d) He sees charity as detrimental 

20. How does Oliver’s journey from the workhouse to Mr. Brownlow’s home reflect 
the novel’s central message? 

a) It shows that everyone gets what they deserve 

b) It illustrates that resilience and goodness can overcome adversity 
c) It demonstrates the futility of striving for a better life 

d) It suggests that luck is the only determinant of success 
21. In "Oliver Twist," the term "workhouse" refers to: 

a) A place where orphans are adopted 
b) A charitable organization 

c) An institution where the poor and destitute were housed and required to 

work 
d) A factory for manufacturing goods 

22. The character Fagin is often described as "cunning." What does "cunning" mean 
in this context? 

a) Honest and straightforward 

b) Clever and deceitful 
c) Clumsy and foolish 

d) Kind and generous 



23. When Dickens describes Bill Sikes as "ruthless," what is implied about his 

character? 
a) He is compassionate and caring 

b) He is brave and noble 
c) He is merciless and cruel 

d) He is indecisive and weak 

24. Which of the following sentences is grammatically correct? 
a) Oliver, despite of his hardships, remained hopeful. 

b) Oliver, despite his hardships, remained hopeful. 
c) Oliver despite his hardships, remained hopeful. 

d) Oliver, despite his hardships remained hopeful. 
25. Identify the sentence with correct subject-verb agreement: 

a) The gang of thieves were hiding in the alley. 

b) The gang of thieves was hiding in the alley. 
c) The gang of thieves is hiding in the alley. 

d) The gang of thieves has hiding in the alley. 

  



Reading quiz Oliver Twist answers 
 

 

1. c 
2. c 
3. c 
4. b 
5. b 
6. c 
7. b 
8. b 
9. b 
10. b 
11. b 
12. b 
13. a 
14. b 
15. b 
16. b 
17. b 
18. b 
19. b 
20. b 
21. c 
22. b 
23. c 
24. b 
25. b 

 

 

 

 

 

 

 

 


